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2. CBoAHble AaHHble
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Ihroro
ceMm. 1|cem. 2| Becero [cem. 1|cem. 2| Bcero|cem. 1|cem. 2|Bcero|cem. 1{cem. 2| Bcero
18 16 35 14 [ 31 17 32 123
TeopeTuyeckoe 0byyeHve 36 | 46 | 1/6 17 46 | ar6 | 36 15 3/6 18 6 24 26
3 |Preamenaumontbie ceccun 12/6[24/6| 4 [326[24/6] 6 | 2 [32/6 z?s 24/6|24/6[52/6 42/%
YuebHasi npakTvka 2 2 2
N |lNpov3BoACTBEHHAs NPaKTWKa 4 4 4 4 6 6 14
[l |BbinyckHas kBanudukaLmoHHas paboTa 5 5 5
I |lFoc. ak3amMeHbl u/unm 3awmta BKP 1 1 1
9 37
K |KaHukynbl 1 [84/6(94/6] 1 [81/6 1/6 1 8 9 (13/6] 8 [93/6 26
50 50 50 50 [ 203
Wr 2l 21 2/6(2! 2 2, 22 1/6/|28 4,
oro 05/6] 30 5/6 /6/29 3/6 5/6 0 3/6(30 2/6 5/6 /6/28 4/6) 5/6 | 2/6
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